12

11

10

H

927

@17.5x 35 LG SLOTS

@73 POLE @ o o 9 9

3300

1162
T
SIDE VIEW
= .8 .8 - [
D e — -— —_ Fo]- 17 M16 x 50 3 M16 x 50mm BOLT, HEX HD, A2-70
16 D-SHACKLE 2 340KG WLL, 316 S/S
TI U Ir N 15 CHAIN 1 CHAIN, LINK, 3/16", S/S
o > ®© o O |0 &  © ©|© © © © © R 14 M16 NYLOC 23 [M16NYLOC, A2-70
i — v | 13 | M16 WASHER LARGE 14 |M16 WASHER, FLAT 380D x 3 THK, A2-70
12 M16 WASHER 23 |M16 WASHER, FLAT, A2-70
11 M12 x 35 12 |[M12x 35mm BOLT, CONE POINT, A2-70
10 M12 x 40 12 |M12x 40 BOLT, HEX HD, A2-70
9 M16 x 80 20 |M16 x 80mm BOLT, HEX HD, A2-70
8 220092 4 HD MOUNTING PLATE
7 220068P 2 HD POLE, @73 OD x 3300 LONG
6 220093 3 WASHER PLATE
5 220079 3 HD POLY TORSION ARM, S/S
4 220089 1 HD BLADES, 2200mm PAIR
3 220080 1 HD BLADE, NOSE
2 220068F 1 HD FRAME, 2200 BW
1 220060F 1 HD FRAME, NOSE PIECE
ITEM ITEM CODE QTY DESCRIPTION
©2016 Belle Banne Conveyor Products ORDERING NUMBER] BBTP-HD-2200 M/S Belle Banne Convevor Products
ALL RIGHTS RESERVED GENERAL NOTES MATERIAL STEEL, MILD fliCRlPTION Y

THIS DOCUMENT (DRAWING) AND THE " ¥VOEII_SDOIN2G5583YI\|\2|E$|-I|_8DS;ANDARD ESTIMATED WEIGHT 156 WEIGHT UNITS KG

o TGO 1S RSy |2 Revove aLL surrs anp srare ORIGINALBY | C. Humphries HD TORSION PLOUGH

BELLE BANNE CONVEYOR PRODUCTS. | EDGES. SEVISED BY 2200mm BELT WIDTH

ANY MANNER OR FOR ANY PURPOSE | | > ALL DIENSIONS IN MILLIMETERS MILD STEEL e

WHATSOEVER. WITHOUT THE PRIOR | UNLESS OTHERWISE STATED. ORIGINAL DATE 15/05/2018 | REVISED DATE

e Y Y= VeRSIoN 0 |mevoore | 2w [ows

REV DESCRIPTION BY | DATE |ScALE 1:13 SHEET 1 OF 1 NO. BBCP-3-220068

12 1 I 10 9 8 / 6 o 4 3 I 2 I 1




